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KON A BASCPC 152

Credit Based Second Semester B.A. Degree Examination, September 2022
(Common to All Batches)
CO-OPERATION - I
Non-Agricultural Co-operatives and Banking Practices

Time : 3 Hours Max. Marks : 120

Instructions : 1) Part— A : Answer any two questions not exceeding 7 pages
each.
2) Part — B : Answer any four questions not exceeding
3 pages each.
3) Part — C : Answer any four questions not exceeding
2 pages each.

PART - A
Y (24x2=48)

1. What are industrial co-operatives ? Explain their objectives and structures.
3 MOT ADTONTOTTERD ? LEINY YTIEIRTD 02 #odaﬁ@oﬁoz’% QWO

2. Explain the objectives and arrangements of co-operative education and training
in India.
YPTBRA FHF0 %Msa =08 BTegow wd@eéﬁ% =02 dgsefaﬂ@odadg{ QWOR.

3. Examine the relationship between banker and customer.
mgoﬁcf WO TRTT SRIWED #owoqﬁdoﬁc{ 208 .

4. Explain the principles of good lending.
SVZID AL DERIRVFOL S%ﬁ%fa’% NWOR.

PART - B
QNN - W (12x4=48)

5. Explain different types of housing co-operatives.
QDN 030D @5 QTR D zﬁ%a@ﬁeﬁ@t QWOR.
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6.

10.

11.

12.

13.

14.

15.

16.

Evaluate the working of urban co-operative banks.
JNT AHTO w%oéomf mojaréb@dﬁdi dﬁe‘%eé&%.

Explain the features, advantages and disadvantages of fixed deposit accounts.

QT BeRED T3NS @ﬁf@ﬁe«ﬁo, ERBRON 03 @mméfo@ﬁeﬁd& QO

Write a note on closing a bank account.
¢39,05° m@oﬁmod;’% mzéawﬁcg RO wrﬁ\ &3TES WTAWO.

Define ‘negotiable instrument’. What are its features ?
md&a% PMOF BT dgd@{ 339,80, 30 @?Msaﬁ%@aj) ?
Explain the meaning and features of ‘cheque’.
RECHECALENTS e)éw\samf&l RO

PART -C
NN - 2

Write a short note on problems of industrial co-operatives.
EHaDISED) ADTONY #eﬁaﬂgmﬁ 27 OO 8318 QTOD.

Write a short note on National Co-operative Union of India.
plercint T8y €03 RBT0 WBRLT Wi OFO LT3 2TD.

Write a short note on :

Objectives of urban co-operative banks.

OO &ITES W0 :

JNT FXE0 w%oéomf wd@ezﬁﬁeﬁa

Write a note on deposit insurance.
3RS DD wrj\ OFPO LTS WTCWO.

What is ‘overdraft’ ?
‘200383 oT3eD ?

What is ‘pay order’ ?
‘TR BT DOTTEID ?
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